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— iy # B[ 100f8/meLt F[  E/mo 3,000 1,200( 2,900 1,300 930 360 11 0 1 7 0 2 6 0 1
K 2] Banzanze|  f#/mo 340 340 34 34 44 44 Mg s g mitshd
BRI A KB E OIS B 0.0ing/ehT| mg/l <0.001[ <0.001[ <0.0001| <0.0001| <0.0001| <0.0001| <0.001 <0.001| <0.0001 <0.0001|  <0.0001 <0.0001
KO R O o b & | 0.0005me/eLlF| mg/0 | <0.00005] <0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 <0.00005] <0.00005 <€0.00005| <0.00005 <0.00005
L v K W™ FE o kA | 0.0ing/eT| mg/o €0.001[ <0.001| <0.001| <0.001| <0.001[ <0.001[ <0.001 <0.001| <0.001 <0.001 <0.001 <0.001
g Kk O & o At A& | 0.0lmeg/olAT| mg/0 €0.001[ <0.001[ <0.001| <0.001| <0.001| <0.001 0.001/<0.001 0.001 0.006<0.001 0.003 0.005| <0.005 0.005
v # &k O™ F o b A | 0.0ine/eTF| mg/l €0.001[ <0.001| <0.001| <0.001| <0.001[ <0.001[ <0.001 <0.001| <0.001 <0.001 <0.001 <0.001
Aoz o om a b A ¥ 0.05mg/eLT| mg/e <0.005[ <0.005[ <0.005[ <0.005[ <0.005[ <0.005| <0.005 <0.005  <0.005 €0.005[  <0.005 <0.005
VT AL A A v R O Ak > | 0.0lmg/eBF|  mg/0 €0.001[ <0.001| <0.001f <0.001[ <0.001| <0.001 <0.001 €0.001[  <0.001 <0.001 <0.001 <€0.001
WY OEE RE % O K OV RN R # lomg/eL F|  mg/0 0.12 0.12 0.09 0.09 0.67 0.67 0.89| 0.47 0.70 0.18] 0.04 0.07 0.18]  0.17 0.17
7 v # Kk Oz 0 i L7 0.8mg/0LA F|  mg/0 0.11 0.11 0.08 0.08 0.07 0.07 0.08] 0.06 0.06 0.07| <0.05 0.05 0.06] 0.05 0.05
v #F kO o b LY L.omg/eLL F|  mg/0 0.017|  0.017| 0.018| 0.018] 0.017| 0.017|  0.021| 0.014| 0.0017|  0.027| 0.018 0.025 0.018| 0.016 0.016
o # 1t 5 # | 0.002mg/eLLF|  mg/0 €0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001 €0.0001| <0.0001 <0.0001[ <0.0001 <€0.0001
1, 4 — ¥ & % # | 005me/0F| mg/0 <0.005[ <0.005[ <0.005[ <0.005[ <0.005[ <0.005| <0.005 <0.005  <0.005 <0.005[  <0.005 <0.005
vA—1,2—-YZumuxF L ]| 004ne/0hTF| mg/l <€0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002 €0.0002| <0.0002 <0.0002[  <0.0002 <€0.0002
DA = =R > 0.02mg/eLLF|  mg/0 <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001|  <0.0001 <0.0001
7 k7 7 mom = F L | 00mg/eTF| mg/l <€0.0001| <0.0001| <0.0001| <0.0001| <0.0001]| <0.0001]| <0.0001 <€0.0001| <0.0001 €0.0001|  <0.0001 <€0.0001
K'Yy sz o m o owm = F L > 003mg/elF| mg/o <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001|  <0.0001 <0.0001
~ Vg + > | 0.0lmg/eRLF| mg/0 <€0.0001| <0.0001| <0.0001| <0.0001| <0.0001]| <0.0001]| <0.0001 <€0.0001| <0.0001 €0.0001|  <0.0001 <€0.0001
i i3 0.6me/0LL F|  mg/Q 0.15| <0.06 0.07 0.98| 0.07 0.49 0.30] 0.19 0.22
s = = e it | 0.02mg/eLlF|  mg/0 <0.001 <€0.001 0.001 0.001|  <0.001 <€0.001
7 = R A 0.06mg/eLLF|  mg/0 0.014/0.0007|  0.006  0.053| 0.001 0.011 0.039| 0.0007 0.011
v = =4 it | 0.04mg/eLLF|  mg/0 0.005<0.001 0.002|  0.007<0.001 0.002 0.008|  0.001 0.004
Y 7 m ® J mow A K v 0.1mg/0LL F|  mg/Q 0.037| 0.017|  0.023]  0.065| 0.014 0.036 0.031| 0.0045 0.017
L # it | 0.0lmg/eLLF| mg/0 0.002<0.001|  <0.001 0.002<0.001 0.001 0.001| <0.001 0.001
woor U N m R v 0.1mg/0LL F|  mg/Q 0.086| 0.012  0.052 0.16| 0.016 0.085 0.087| 0.0085 0.050
k ) 7 = = i 0.2me/0LL F|  mg/0 0.004/<0.001 0.001 0.006<0.001 0.003 0.009| <0.001 0.004
7w E ¥y m o ouw A & | 0.03ng/eLF| mg/0 0.028 0.011 0.015|  0.051[0.0042 0.022 0.031| 0.0023 0.022
7 =t e R A 0.09mg/eLLF|  mg/0 0.015/0.0021| 0.0064|  0.040(0.0023 0.014|  0.0052| 0.0008|  0.0027
A o on T L F | 0.08me/0LAF| mg/0 0.002(<0.001 0.001 0.004<0.001 0.001 0.003| <0.001 0.001
o &k O % O b L7 Lomg/@ELF|  mg/0 €0.005[ <0.005[ <0.005[ <0.005[ <0.005| <0.005[ <0.005[<0.005[ <0.005|  0.007[<0.005 0.003]  <0.005| <0.005|  <0.005
TAI=0 Ak VBEDONLAEDY 0.2mg/0LL F|  mg/0 0.131 0.131 0.138|  0.138]  0.102|  0.102|  0.032|<0.005]  0.016]  0.017| 0.006 0.010 0.020[ 0.007 0.012
g% kK O % o i 7] 0.3mg/0LL F|  mg/0 0.13 0.13 0.11 0.11 0.08 0.08 0.03| <0.03 0.03 0.06] <0.03 0.06 €0.03| <0.03 <0.03
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ok O F o A B! Lomg/@EL F|  mg/0 <€0.01 <0.01| <0.001| <0.001| <0.001| <0.001 0.004<0.001 0.001 0.008<0.001 0.007 0.006| 0.001 0.003
FrFYV T AR BEOILAYD 200me/0LLF|  mg/0 20.8 20.8 19.3 19.3 19.2 19.2 20.6| 18.8 19.9 35.3| 20.8 32.0 24.7|  23.6 24.1
~ v Ay kO EOED 0.05me/0LA F[  mg/0 0.007 0.007 0.018 0.018 0.006 0.006|  <0.001 <0.001|  <0.001 <€0.001 <€0.001 <0.001
S 1t L7 A 7 v 200me/0LLF|  mg/0 30.3 30.3 26.7 26.7 28.8 28.8 33.6| 26.0 29.2 58.2| 24.8 42.6 37.4  28.2 31.6
AN TR~ T 32y N () 300me/QL F|  mg/0 15.4 15.4 36.9 36.9 63.7 63.7 77.6|  42.3 64.7 60.3| 12.2 50.45 19.2[ 115 13.9
# % 7% B L) 500me/0LLF|  mg/0 104 104 114 114 149 149 167 100 147 195 78 169 122 107 115
e o4 4 v Rom oE M A 0.2me/0LL F|  mg/0 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <0.02
v ES 7 2 N > 10.00002me/02AF|  mg/0  [<0.000001{<0.000001{<0.000001{<0.000001{<0.000002(<0.000002(<0.000001 <0.000001{<0.000001 <0.000001| <0.000001 <0.000001
2 — AF L A VKR L X F — s |0.00002mg/08L F| mg/0 |<0.000001]|<0.000001]<0.000001]<0.000001]<0.000001]<0.000001|<0.000001 <0.000001{<0.000001 <0.000001| <0.000001 <0.000001
¥ o4 A& v B om WE A 0.02mg/QLA [  mg/0 €0.005[ <0.005[ <0.005[ <0.005[ <0.005 <0.005| <0.005 €0.005  <0.005 <0.005 <0.005 <0.005
7 = J — 2 $ | 0.005me/0LL F|  mg/0 <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 <0.0005| <0.0005 <0.0005|  <0.0005 <0.0005
A (2AHKFZ(TOC) O &) 3mg/0LAT|  mg/0 1.3 1.3 1.6 1.6 1.1 1.1 0.9 0.4 0.5 1.4] 0.3 0.5 1.1 0.3 0.4
P H fi& 5.8~8.6LLF| mg/0 7.7 7.7 7.6 7.6 7.2 7.2 83| 7.0 7.5 8.7 7.2 7.7 8.3 6.9 7.4
'S BHETRNIE FERL BERL B B BERL BHERL
L] K| BETRvze FERL FERL FHERL FERL FHERL S RL
&, E SHELLF B 7.7 7.7 7.2 7.2 5.3 5.3 1.0 <0.5 0.27 1.3] <0.5 0.2 1.0]  <0.5 0.1
i) i 2BELAF i3 0.6 0.6 2.6 2.6 1.2 1.2 0.1] <o0.1 0.1 0.1] <o0.1 <0.1 0.1 <o.1 <0.1
HHWE G~ BT AW &) 10mg/0LLTF|  mg/0 6.7 6.7 6.9 6.9 5.2 5.2 2.6 1.8 2.1 2.1 1.6 1.8 2.3 1.3 1.8
7 v ® = 7 & ® %K mg/0
AR FEERE(BOD) mg/0 0.9 0.9
bt % mEg*FERE(COD) mg/0 3.8 3.8
L4 R (U V) | ok
w o ®H &' & (s s ) mg/0 3 3
' & M B BE R B mg/0 2.2 2.2 4.0 4.0
£ ® #( - N ) mg/0 0.28 0.28
£ v A (T — P ) mg/0 0.019 0.019
y w o w &k N A E K R mg/0
Y7 mEsun Ay AR E mg/0
T aE Y rsmna AL R R mg/0
7 v E Kk A A O R mg/0
[N = B S S S U -1 mg/0
033 B i) ES mg/0 0.90| 0.10 0.44 1.30[ 0.20 0.60 1.40|  0.30 0.79




